Jak rozwigzywac logilinki?
Kazda liczba ma swojg pare.
Znajdz kazdg pare i potacz je
linig.

Linia musi mie¢ tyle pdl, ile
wskazujg liczby w jej parze.
Linie mogg przebiegac
poziomo lub pionowo i moga
zakrecac.

Linie nie mogg sie krzyzowac
ze sobg ani przechodzi¢ przez
te same pola.

How to solve logilinks?

Each number has its pair (the same
number).

Find each pair and connect it with a
line.

The line has to have the amount of
fields, which indicates the numbers in
a pair.

Lines can go only horizontal and
vertical, they can turn.

Lines can't cross with each other. They
also can't run through the same fields.
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